
Sr PL No. Description Unit Stock Stock Value LI/LR-DT WD / DP
1 30561206 ANGLE PROFILE T 56027. Kgs. 138.743 60001 21-Apr-23 30/20
2 31257215 S&I OF FLEXIBLE GANGWAY FOTPLT EMUDMCAC Set 55 27874147 11-Sep-23 30/20
3 31257306 SS HANDLE TO DRG NO.68525005 Nos. 12 6863 9-Dec-23 30/20
4 31420886 S&I OF FRP PANEL IN MEMU/TC6 Set 6 3106884 11-Dec-23 30/20
5 31420898 S&I OF FRP PANEL IN MEMU/DMC/3PH Set 15 7360614 20-Jan-24 30/20
6 31440174 GRILL FOR ROOF VENTILATR STD4401 Nos. 432 215173 9-Dec-23 30/20
7 31540892 ALU WINDOW INNER FRAME(BIG) Set 17 41703 11-Sep-23 30/20
8 31620747 S&I AL.EXT.LUGG RACK -MEMU/US/DMC Set 2 550736 30-Nov-23 30/20
9 31620759 S&I OF AL.EXT.LUGG.RACK-MEMU/US/TC Set 2 535720 30-Nov-23 30/20
10 33511433 SET OF SS LAV INLAYS FOR LSLRD Set 9 803248 8-Feb-24 30/20
11 33522406 ALU FLAT MOULD 3.18 X 25.4 Kgs. 3409.98 767246 9-Feb-24 30/20
12 33540123 ALU EXTRUSION DRG.LW44482 Nos. 7 40904 18-Feb-23 30/20
13 33544578 SS COVER SHEET ASSY. FORLHB RMPU Nos. 79 524738 20-Feb-23 30/20
14 33547580 ALU EXTRUSION 3 MTRS RCF MTR 1548 202155 9-Feb-24 30/20
15 33568273 ALU ANGLE MOULD 3.15 X25.4X25.4 Kgs. 85.729 18504 9-Feb-24 30/20
16 33570061 ALU EXTRU ANGLE MOULD 1.98X9.93 Nos. 9956 974475 19-Jan-24 30/20
17 33580054 UNF ALU Z MOULDING L:1209MM LHB-EOG Kgs. 1433.54 322004 9-Feb-24 30/20
18 33581095 ALU EXTRUSION LENGTH 5000MM Kgs. 5004.7 1659603 22-May-23 30/20
19 33596920 ALU PROFILE DRG.LE 44110 Kgs. 1192.68 477697 15-Mar-23 30/20
20 33908321 MOUNTING OF FUEL TANK FOR LSLRD Set 6 1534977 19-Oct-23 30/20
21 30251825 HOOK ASSLY WGFAC4-25403C1 Nos. 87 3553 10-Feb-24 31/20
22 30256446 FLAP DOOR FOR VESTIBULE Set 6 201473 10-Feb-24 31/20
23 30416346 UNI PRSG OF SS LAV INLAY STD4100 Set 13 291544 6-Jul-23 31/20
24 30561620 CATCHFORLAVDOOR ASSY CR T56081P Nos. 119 57278 15-Nov-23 31/20
25 30611398 END LINK ICF/STD61001/1 Nos. 652 3934 9-May-23 31/20
26 30613450 PLATE LOCKING FOR CHAIN ASSY TCN Nos. 82 8856 6-May-23 31/20
27 30616153 CHAIN DIA 6MMIS2429[PARTI]1987 MTR 61 34819 27-Jul-23 31/20
28 30631361 MIRROR FOR COMPT AREA 5X330X400 Nos. 51 64825 14-Sep-23 31/20
29 30633746 U-CLAMP T 63767/17 Nos. 2712 28238 4-Jan-24 31/20
30 30636024 GRAVITY COCK WITH ANTIPILFERAG A Nos. 33 -50 12-Jan-24 31/20
31 30643170 NOTICE FOR SAFETY MESSAGE Nos. 7430 8767400 8-May-23 31/20
32 30646522 SHACKLE IRSC79 Nos. 716 38664 18-May-23 31/20
33 30720138 SCREW CAPTIVE M5X16 Nos. 35122 219978 10-Feb-24 31/20
34 30920700 PVC FEXIBLE HOSE IS Nos. 279 10760 10-Feb-24 31/20
35 31352881 EP BRAKE EQUIPMENT EMU/C/AC Set 26 13638792 12-Apr-23 31/20
36 31353629 A-9 AND SA-9 BRAKE VALVES Set 4 186597 27-Dec-23 31/20
37 31355055 SS TUBE & FITT ICF/SK-10-2-658 Set 2 573480 7-Sep-23 31/20
38 31357260 EP BRAKE EQUIPMENT FOR DMU TC HPP Set 13 3463371 19-Apr-23 31/20
39 31581043 SETOF SHIMFOR FIX SLIDDOOR ARRGT Set 218 959691 17-Jan-24 31/20
40 31641398 NOTICE F.ENGINE ROOM DMU/DPC SK6 Nos. 127 5387 9-May-23 31/20
41 31647777 INSRUCTION NOTICE Nos. 130 23470 9-May-23 31/20
42 31648149 LONG HAND HOLD FOR MEMU US COL-1 Set 4 187415 16-Sep-23 31/20
43 31648150 LONG HAND HOLD FOR MEMU US COL-2 Set 7 362306 16-Sep-23 31/20
44 31648162 D/W HAND HOLD FOR MEMU US COL-1 Set 3 417134 16-Sep-23 31/20
45 33503448 BRACKET FOR SBC MOUNTING BRKT Nos. 140 345271 25-Apr-23 31/20
46 33510313 AXLE MOUNTED DISC BRAKE Set 9 28504917 4-Oct-23 31/20
47 33512899 SS TUBE & FITT ICF/SK-10-2-649 Set 1 253660 17-Jun-23 31/20
48 33513351 BOGIE BRAKE EQPT LHB AC-NONAC Set 26 15310162 13-Feb-24 31/20
49 33518622 FABRICATED ITEM FOR LHB WITH ASR Set 22 750039 30-Oct-23 31/20
50 33581186 CHAN TO DRG.NO. LG 63161 Nos. 188 49914 19-Oct-23 31/20
51 33581678 COVER ANGLES AC 3-TIER LHB Set 191 1004856 3-Mar-23 31/20

LIST OF INACTIVE ITEMS FUR DEPOT- FEB 



52 33595094 NOTICES AND NO. PLATES - LWSCWAC Set 1 9185 3-Mar-23 31/20
53 36640104 S&I OF ZEBRA STRIP STICKERS Set 68 176559 10-Feb-24 31/20
54 83907142 UNF YELLOW COL DIAMOND GRADE LDP Nos. 95 81969 21-Aug-23 31/20
55 30618745 SPECIAL BOLT FOR FIXING CH.ANGLE Nos. 2357 86740 7-Aug-23 32/20
56 31354415 SWIVEL ELBOW 1 INCH OD Nos. 535 356685 22-Jul-23 32/20
57 33616061 HEX REDUCTION 20X15 MM BORE Nos. 830 53950 28-Apr-23 32/20
58 33623820 S.S PIPE CLAMP FOR LHB COACHES Nos. 38025 339355 7-Feb-24 32/20
59 33630690 MALE STUD BRANCH TEE TE22LRA3C Nos. 162 45360 28-Apr-23 32/20
60 33676938 SS. SOCKET REDUCER Nos. 188 21366 28-Apr-23 32/20
61 73112008 HEX NUT MS DC M8-6 Kgs. 284.686 23332 9-Feb-24 32/20
62 73160260 UNF ALU SNAP HEAD RIVET 3X15MM Nos. 67535 11045 14-Feb-24 32/20
63 73520068 SCREW CHEESE HD AM3X12 Kgs. 20.072 3814 7-Feb-24 32/20
64 73530426 SCREW CSK FLAT HD M5X16 MM IS:1365 Kgs. 227.172 29948 6-Nov-23 32/20
65 73540900 SCREW BR CSK HD ST M8X1X50 Kgs. 169.158 20430 11-Apr-23 32/20
66 73561435 SCREW MS HEX HD M12X75 GAL IS 13 Kgs. 15.489 1704 13-Oct-23 32/20
67 73572457 SCREW RSD HD ST4.8X32F-ZINC PTD Nos. 103653 42379 7-Aug-23 32/20
68 73575288 SCREW RSD HD ST4.2X19F-ZINC PTD Nos. 693778 138743 5-Jun-23 32/20
69 73824719 UNF ALU PLAIN WASHER SIZE A3.5 Nos. 8336 14340 29-Jan-24 32/20
70 73836588 FLAT CSK HD RIVET SIZE 4 X 10 Kgs. 20.902 10605 10-Feb-24 32/20
71 73844123 UNF SS CROSS RE CSK HD TAP SCRE 4.8X Nos. 7674 11442 10-Feb-24 32/20
72 73853306 UNF SS HEX SOCKET HD CAP SCRE M10X35 Nos. 3750 32922 30-May-23 32/20
73 73853331 SS HEX SOCKET HD CAP SCRE M10X25 Nos. 11000 93507 18-Apr-23 32/20
74 73853719 HEX HEAD SCREW M16X100-10.9 Nos. 3070 134000 25-Nov-23 32/20
75 73857774 UNF S.S CSK HD TAP SCREW SIZE 4. Nos. 38945 32714 29-Jan-24 32/20
76 73900217 UNF STAINLESS STEEL PIANO HINGE SIZ Nos. 889 87834 10-Feb-24 32/20
77 74498460 UNF STAINLESS STEEL BUTT HINGE 75MM Nos. 17310 250807 23-Nov-23 32/20
78 74900651 UNF EYELET WITH PLAIN WASHER NO.18 Nos. 5488 19104 14-Feb-24 32/20
79 76112901 ALU FILLER WIRE SOLID 1.6MM Kgs. 738.5 288768 9-Feb-24 32/20
80 84139780 UNF PASTING STICKERS PRIMER-94 LTR 59.43 142540 1-Dec-23 32/20
81 90818416 S.STEEL SHEET 2MMX1200X2900MM Kgs. 1686.88 453839 10-Feb-24 32/20
82 31354385 SS TUBE & FITT ICF/SK-10-2-659 Set 13 2457822 12-Sep-23 33/20
83 33609950 SUPPLY OF CEILING ARRANGEMENT OF LWFCWAC COACHSet 1 116302 18-Feb-23 33/20
84 30648798 FIRE RETARD CURTAIN CLOTH/BROWN W-1220MM MTR 212.8 75740 10-Jan-24 34/20
85 31617669 3 SEATER COMPLETE FOR 7 SEATER 1 Nos. 9 141132 18-Apr-23 34/20
86 31618273 DRIVERS SEAT SR DMU Nos. 1 53103 11-Dec-23 34/20
87 31618352 S&I-C/S OF BIC SEATS MEMU/TC/US Set 2 1606216 6-Oct-23 34/20
88 33592226 SUPLY-S&B-C/S-LGS/EOG-ICF DESIGN Set 6 1443183 24-Aug-23 34/20
89 33615482 S&I OF C/S OF SEAT AND BERTH C COMP Set 1 141464 16-Jan-24 34/20
90 33617405 COACH SET OF SEATS FOR LSLRD/US Set 8 1099094 27-Feb-23 34/20
91 33635330 PANTRY EQUIPMENTS COMPOSITE EDTS139 Set 11 2559543 16-Mar-23 34/20
92 75909844 UNF LUMINOUS FILM FOR DISPLAY50X800M Nos. 2587 290080 17-Jan-24 34/20
93 84130192 RUBBER BASED ADHESIVE LTR 100 24603 13-Feb-24 34/20
94 31711194 FRP TRAY STARTER BATTERY DETC/US Set 10 30153 5-May-23 35/20
95 31711546 HT CABLE PROTECTION ASSLY Nos. 94 602659 29-Aug-23 35/20
96 31711583 SS CLAMP ICF/SK3 7-1-107 ITEM 4 Nos. 2817 83013 9-Aug-23 35/20
97 31760375 JUNTION BOX ICF/SK3 7-6-052 Nos. 177 225417 5-May-23 35/20
98 31760399 STEEL DB BOX WITH MCB 2P 20A 240 Nos. 61 56678 5-May-23 35/20
99 31760790 CONNECTOR TO PLUG & SOCKET TR18 Set 354 67894 7-Nov-23 35/20
100 33760421 SWITCH PLATE ASSEMBLY FOR LWLRRMD Nos. 39 102335 5-Apr-23 35/20
101 33765698 SET OF RF CLAMPS - HOT BUFFET C/S Set 93 103542 29-Dec-23 35/20
102 33769151 SET OF R/F CLAMPS FOR LWACCN C/S Set 593 645649 14-Sep-23 35/20
103 41095509 TAPE CELLULOSE TRANS P 3/4 IN X Nos. 18 270 26-Oct-23 35/20
104 42010020 SW & SOCKET BOX 230V, 6A, 3PIN Nos. 49 9691 5-May-23 35/20



105 45158540 UNF 100VA INDU INVERT FOR LAP TOP-B- Nos. 245 751604 22-Aug-23 35/20
106 45180910 RC FAN 110V DC 400MM SWEEP, ST Nos. 76 209720 5-May-23 35/20
107 30567932 RUBBER PACKING SIZE1.6X30X2000MM Nos. 14 812 6-Jun-23 38/20
108 30676216 BUSH RUBBER SPL FOR COMMODE ICF/ Nos. 345 1410 25-Jul-23 38/20
109 31630273 S.S PIPE CLAMP FOR 40 BORE PIPE Nos. 16493 268720 20-Jul-23 38/20
110 31711285 TUBE CLAMP SS DIA 32 Nos. 5680 285129 3-Nov-23 38/20
111 33629432 RMPU DRAIN ARRANGEMENT/LHB AC Set 675 3847500 3-Apr-23 38/20
112 62132957 BACK NUT HEX. 25 MM IS.1239 P II Nos. 1241 18553 20-Jul-23 38/20
113 62132970 BACK NUT HEX 40MM G IS 1239/69 P Nos. 4643 110448 20-Jul-23 38/20
114 62133998 UNF S.S SOCKET REDUCING BORE 50 X 40 Nos. 87 6284 21-Oct-23 38/20
115 62303119 BLACK TUBE 25MM DIA NOMINAL BOR MTR 8.4 1218 4-Apr-23 38/20
116 62331462 TUBE MS HFS 50 MM HEAVY IS 1239/ MTR 0.19 99 17-Aug-23 38/20
117 72012638 SAWCIR.18INX116X1.1/4IN Nos. 79 254578 14-Mar-23 38/20
118 72017612 SAW BAND 51X0.91X13P-J&T/00386/0 MTR 185 10101 16-Feb-23 38/20
119 72202520 DRILL TWIST HSS PS 2.50 MM IS 51 Nos. 446 6901 5-Feb-24 38/20
120 72202841 DRILL TWIST HSS PS 5.20 MM IS 51 Nos. 624 22422 30-Jan-24 38/20
121 75325032 STRIP RUBBER 12X32X1928 BLACK Nos. 337 66695 15-Jul-23 38/20
122 75328008 RUBBER LINING 2X39X1686MM Nos. 82 2801 29-Apr-23 38/20
123 75328380 UNF RUBBER PACKING 9X10X1918 MM Nos. 194 12552 5-Feb-24 38/20
124 75328410 UNF RUBBER PACKING Nos. 59 52257 15-Jul-23 38/20
125 75328422 UNF RUBBER PACKING Nos. 95 128783 15-Jul-23 38/20
126 77031027 UNF PAINT PU BLACK MATT LTR 324 60406 21-Jul-23 38/20
127 77031039 UNF PAINT PU SURFACER LTR 1 209 1-Sep-23 38/20
128 30726761 U CRIMPING SOCKET ICF/SK 72528 ITEM-22 Nos. 245 2891 16-Nov-23 39/20
129 30942688 COPPER CRIMP SOC 25SQMM CAB I-13 Nos. 1898 23825 10-Nov-23 39/20
130 31760703 S&I ELEC CABLE TRAYS MEMU/TC US Set 11 498054 12-Jun-23 39/20
131 31760715 S&I ELEC CABLE TRAYS MEMU/DMC US Set 5 142952 15-Nov-23 39/20
132 31902017 CAB HEATER UNIT FOR DETC US Nos. 31 2736635 3-May-23 39/20
133 31906011 FOOT INSULATOR FOR PANTOGRAPH IC Nos. 2 10325 5-Feb-24 39/20
134 33571247 UNF UIC CONTROL CABLE MOUNTG&JUMPER CABL Set 2082 726496 12-Feb-24 39/20
135 33580390 PA SYSTEM FOR LACCW & LACCN Set 13 713602 5-May-23 39/20
136 33686579 TERMINAL STRIP FOR LHB EOG AC Set 1 5936 18-May-23 39/20
137 36766215 LED BASED SPOT LIGHT - DRG:ICF/STD/76035 Nos. 102 90171 3-May-23 39/20
138 36766227 LED CLUSTER LIGHT (AMBER) FOR DETC Nos. 7 10388 3-May-23 39/20
139 40090097 CABLE 16 SQ MM BLACK 750V MTR 105 16483 11-Dec-23 39/20
140 40090164 CABLE 25 SQ MM BLUE 750V MTR 777.2 186200 9-Oct-23 39/20
141 42900074 CR SOCKET 6 SQMM ITEM 6 Nos. 455 2732 6-Feb-24 39/20
142 45030959 UNF PLUG AND SOCKET BOARD IS:8828 Set 29 67672 3-May-23 39/20
143 50150121 INTERCOM SYSTEM FOR USE ON OVER HEAD EQUIPMENTNos. 17 388846 3-May-23 39/20
144 76210091 PORTABLE DIESEL ALTERNATOR CUM WELDING SETNos. 11 1210515 24-May-23 39/20
145 33571478 ONE C/S OF SEAT ARRGT EOG Set 1 699167 21-Apr-23 40/20
146 33615123 1 C/S OF RECROM FOR LACCN Set 20 1551056 10-Oct-23 40/20


	Sheet1

